Unit 4, page 29

Economics Unit 4: 
The Role of Government
Exam Date: Friday, May 13th

Name _____________________________________________________Day/hr ____________



The Federal Reserve: Eye of the Storm Video

If absent go to http://www.youtube.com/watch?v=ziwut6qm7F0&safety_mode=true&persist_safety_mode=1 to complete this page.  As you watch the video on the Federal Reserve, write down as many of the Feds different jobs as you can.  

Name _________________________________________________________________ Hour ____________

Guided Reading - The Federal Reserve (Various Sections) - Start on page 394

1.  Complete the following sentences to explain the three different sets of circumstances that were causing the banking system to show signs of strain by the turn of the twentieth century:


a.  The National Banking System was having trouble providing enough…


b.  The National Banking System was having trouble managing a new method of payments called …


c.  Major problems were being caused by even minor …

2.  What did Congress create as the nation's central bank in 1913?

3.  What is a Central Bank?  

4.  Since all of the banks in the nation that joined the federal reserve system bought shares of stock in the Federal Reserve or FED, who really does and does not own the FED?

5.  Today, who or what issues all currency (money) in the United States?

Go To page 399

6.  What milestone was reached in the US economy in 2006?


7.  Why does this matter (your answer to the last question)?

8.  What is the name of the new Chairman of the FED?

9.  What three problems will this new chairman be especially concerned about? 

Continue (
10.  In the box below, draw a picture of the structure of the FED as shown on page 400.  Here is what you must include:  a.  Draw the three different boxes at the top.  Include the title of each and the functions of the one on the left and the middle (the composition is not needed).  b.  Draw the line of boxes and label it "12 District Banks."  c.  Draw a line of boxes and label it "Member Banks"  d.  Draw all arrows and label them if they are labeled in the book.

	


11.  Define Member Banks:
12.  The Fed is directed by a 7 member board of governors.  Fill in the following information about these Fed governors:

a.  Appointed by:


b.  Approved by:  


c.  Term Length:

13.  Appointments to the FED are staggered.  What does this mean?

14.  Complete the Sentence:  "The Board is primarily a …

15.  What are some things that the Fed bank does for its member banks that member banks do for people like you and me?


16.  The FOMC or the Federal Open Market Committee makes decisions about the level of what?

                                                                                                                                         Keep going (
17.  What do these kinds of decisions (from the last question) have a direct impact on?

18.  The FOMC is the Feds primary body for what kind of policy (which we will discuss later)?

19.  What do the three advisory committees or advisory councils do (duh!)?

Go To page 406:  Other Fed Responsibilities

Maintaining the Money Supply

20.  In your own words, tell me what this rather self-explanatory function means

Maintaining the Payments System

21.  Of all the forms of payment besides cash that the fed maintains, which is the most popular?

22.  What new computerized payment method must the Fed maintain and make sure is not abused?

Regulating and Supervising Banks

23.  Fill in the blanks:  "The Fed is responsible for establishing specific guidelines that govern _____________

_____________________.  It also has the responsibility for ___________________, ___________________,

and _________________________ various banking agencies to verify that they comply with  _____________

________________________________________________.

Preparing Consumer Legislation

24.  Which act or law is the Fed responsible for implementing?

Acting as the Government's bank

25.  A final function of the Fed is the range of financial services it provides to whom?

Name _________________________________________________  Hour ______________

The Fed and Monetary Policy Powerpoint Notes

I.  The two main goals of the US Federal Reserve is to:

1.  Fight _____________________

 
GDP shrinking rather than growing, or unemployment > 5%.

2.  Fight _______________________

 
Prices rising more than 4% a year.

· The Fed does this by using Monetary Policy – 

 
The power to increase or decrease ________________________________ (the amount of money 
circulating through the United States)

II.  Different kinds of monetary policy are appropriate for solving the different kinds of economic problems.

Think about a car:

A.  If a car is going too slowly, you need to give it more gas.  

· A recession is like a car going __________________________________.

· ________________ is like _______________________

· So to fight a recession, the Fed should ____________________________the money supply (like stepping on the gas pedal) to get the economy moving again.

· Increasing the money supply is called ______________________________________________________. 

· The Fed increases the money supply by making sure that ___________________________________ and 

__________________________________________  

B.  If a car is going too fast, you need to give it less gas.  

· Inflation is like a car going ____________________________________.  

· So to fight inflation, the Fed should ________________the money supply to get the economy to slow down.

· Decreasing the money supply is called __________________________Monetary Policy.

· The Fed decreases the money supply by making sure that banks have ____________________ money to loan out.  

III.  But how does the Fed cause banks to have more or less money to loan out?

· Let’s start with a recession.

· Is a recession like the economy going too fast or too slow?  ________________________

· If your car is going to slow, do you give it more gas or less gas?  _________________________

· So should the Fed give the economy more money or less money?  ___________________________

· Increasing the money supply like this is called _______________________________________________

· The Fed increases the money supply by causing banks to have more money to loan out.  

IV.  But how does the Fed cause banks to have more money to loan out? 

- Three Ways the Fed does expansionary monetary policy

1.  It can loan the banks money at a lower interest rate (called ____________________________________)

2.  It can tell banks that they are allowed to loan out more money (called ______________________________)

3.  It can provide banks with more money by _______________________________________________.   

V.  How would the Fed cause banks to have less money to loan out?

· Let’s start with high inflation this time.

· Is high inflation like the economy going too fast or too slow?  ________________________________

· If your car is going too fast, do you give it more gas or less gas?  ________________________________

· So should the Fed give the economy more money or less money?  _________________________________

· Decreasing the money supply like this is called _________________________________________________

· The Fed decreases the money supply by causing banks to have less money to loan out.  

VI.  How would the Fed cause banks to have less money to loan out?

- Three Ways the Fed does contractionary monetary policy

1.  It can loan the banks money at a higher interest rate (_____________________________________________)

2.  It can tell banks that they must loan out less money (called _______________________________________)

3.  It can take money out of the banks by selling government bonds to them (That is, it ____________________
________________________________ and ________________________________________).

VII.  Monetary Policy Practice

A. Suppose that GDP has been shrinking for almost a whole year?

1. Is this an economic problem?

2. Is it recession or high inflation?

3. So, is the economy moving too slowly or too quickly?

4. So what would get the economy going?  Increasing the money supply or decreasing it?

5. Is this expansionary or contractionary monetary policy?

6. Does that mean causing banks to have more money to loan out or less money to loan out?

7.  So how could the fed do this?  Should it…

A.  Lower the discount rate (lend banks money at a lower interest rate)

B.  Raise the discount rate (lend banks money at a higher interest rate)

8.  How else could the fed do expansionary monetary policy, increasing the money supply?  Should it…

A.  Lower the reserve ratio (tell banks that they can loan out more money)

B.  Raise the reserve ratio (tell banks that they must loan out less money)

9.  Finally, how else could the Fed do expansionary monetary policy, increasing the money supply?  Should it…

A.  Take money out of the banks by selling them bonds?

B.  Put money into the banks by buying bonds from them?

B.  Let’s try another one.  Suppose that prices are rising at a rate of 7% a year.

1. Is this an economic problem?

2. Is it recession or high inflation?

3. So, is the economy moving too slowly or too quickly?

4. So what would get the economy to slow down?  Increasing the money supply or decreasing it?

5. Is this expansionary or contractionary monetary policy?

6. Does that mean causing banks to have more money to loan out or less money to loan out?

7. So how could the fed do this?  Should it…

A.  Lower the discount rate (lend banks money at a lower interest rate)

B.  Raise the discount rate (lend banks money at a higher interest rate)

8. How else could the fed do contractionary monetary policy, decreasing the money supply?  Should it…

A. Lower the reserve ratio (tell banks that they can loan out more money)

B. Raise the reserve ratio (tell banks that they must loan out less money)

9. Finally, how else could the Fed do contractionary monetary policy, decreasing the money supply?  Should it…

A. Take money out of the banks by selling them bonds?

B. Put money into the banks by buying bonds from them?

C. If you do expansionary monetary policy when you have a recession and you do contractionary monetary policy when you have high inflation, what do you do when you have both, stagflation:  Recession and High Inflation

The answer is:



_____________________________________________________

Let's see if you can do that with me without looking at your notes…

D.  So, suppose that prices are rising at a rate of 7% a year and GDP is shrinking

1. This economic problem is, of course…

2. So do we treat it like recession or high inflation?    

3. So should we treat the economy as if it is moving too slowly or too quickly?

4. So what would get the economy to slow down?  Increasing the money supply or decreasing it?

5. Is this expansionary or contractionary monetary policy?

6. Does that mean causing banks to have more money to loan out or less money to loan out?

7. So how could the fed do this?  Should it…

A. Lower the discount rate (lend banks money at a lower interest rate)

B. Raise the discount rate (lend banks money at a higher interest rate)

8. How else could the fed do contractionary monetary policy, decreasing the money supply?  Should it…

A. Lower the reserve ratio (tell banks that they can loan out more money)

B. Raise the reserve ratio (tell banks that they must loan out less money)

9. Finally, how else could the Fed do contractionary monetary policy, decreasing the money supply?  Should it…

A. Take money out of the banks by selling them bonds?

B. Put money into the banks by buying bonds from them? 

Name ______________________________________________________________  

Hour ________________

Monetary Policy Review

Directions:  1.  Determine if there is an economic problem as follows:  

A.  Shrinking GDP or an unemployment rate above 5% = Recession.  

B.  Prices rising faster than 4% a year as measured by the Consumer Price Index (CPI) = High Inflation. 

C.  Recession and inflation together = Stagflation.  

       2.  Then, use your "The Fed and Monetary Policy" powerpoint to help you circle the correct answer in each box.  

1.  Prices are rising at 3%.  The Unemployment Rate is at 10%.  GDP for the last three years has been 190 billion, 188 billion, and 185 billion.  

	Circle Which Problem is indicated.
	Circle what the FED should do.
	Circle one way the FED could do this.

	A.  High Inflation

B.  Recession

C.  Stagflation

D.  No Problem is indicated
	A.  Expansionary Monetary Policy (Increase the Money Supply)

B.  Contractionary Monetary Policy (Decrease the Money Supply)

C.  Leave the Money Supply Alone
	A.  Lower the discount rate (lend banks money at a lower interest rate)
B.  Raise the discount rate (lend banks money at a higher interest rate)
C.  Do Nothing (if there is no problem)


2.  GDP has risen all year.  CPI is growing at 9% a year

	Circle Which Problem is indicated.
	Circle what the FED should do.
	Circle one way the FED could do this.

	A.  High Inflation

B.  Recession

C.  Stagflation

D.  No Problem is indicated
	A.  Expansionary Monetary Policy (Increase the Money Supply)

B.  Contractionary Monetary Policy (Decrease the Money Supply)

C.  Leave the Money Supply Alone
	A.  Lower the reserve ratio (tell banks that they can loan out more money)
B.  Raise the reserve ratio (tell banks that they must loan out less money)

C.  Do Nothing


3.  Inflation is at 3%.  The Unemployment Rate is 4%.  GDP over the last 3 years has been 177billion, 181billion, and 183billion.

	Circle Which Problem is indicated.
	Circle what the FED should do.
	Circle one way the FED could do this.

	A.  High Inflation

B.  Recession

C.  Stagflation

D.  No Problem is indicated
	A.  Expansionary Monetary Policy (Increase the Money Supply)

B.  Contractionary Monetary Policy (Decrease the Money Supply)

C.  Leave the Money Supply Alone
	A.  Take money out of the banks by selling them bonds?
B.  Put money into the banks by buying bonds from them?
C.  Do Nothing


4.  The Unemployment Rate is at 15%.

	Circle Which Problem is indicated.
	Circle what the FED should do.
	Circle one way the FED could do this.

	A.  High Inflation

B.  Recession

C.  Stagflation

D.  No Problem is indicated
	A.  Expansionary Monetary Policy (Increase the Money Supply)

B.  Contractionary Monetary Policy (Decrease the Money Supply)

C.  Leave the Money Supply Alone
	A.  Lower the discount rate (lend banks money at a lower interest rate)
B.  Raise the discount rate (lend banks money at a higher interest rate)
C.  Do Nothing (if there is no problem)


5.  CPI is growing at 11%.  GDP has been growing all year.

	Circle Which Problem is indicated.
	Circle what the FED should do.
	Circle one way the FED could do this.

	A.  High Inflation

B.  Recession

C.  Stagflation

D.  No Problem is indicated
	A.  Expansionary Monetary Policy (Increase the Money Supply)

B.  Contractionary Monetary Policy (Decrease the Money Supply)

C.  Leave the Money Supply Alone
	A.  Lower the reserve ratio (tell banks that they can loan out more money)
B.  Raise the reserve ratio (tell banks that they must loan out less money)

C.  Do Nothing


6.  The CPI is growing at 9%.  Unemployment is at 4%.

	Circle Which Problem is indicated.
	Circle what the FED should do.
	Circle one way the FED could do this.

	A.  High Inflation

B.  Recession

C.  Stagflation

D.  No Problem is indicated
	A.  Expansionary Monetary Policy (Increase the Money Supply)

B.  Contractionary Monetary Policy (Decrease the Money Supply)

C.  Leave the Money Supply Alone
	A.  Take money out of the banks by selling them bonds?
B.  Put money into the banks by buying bonds from them?
C.  Do Nothing


7.  GDP has been shrinking for 3 consecutive quarters (3 month periods). Unemployment is at 9%. CPI is at2 %.

	Circle Which Problem is indicated.
	Circle what the FED should do.
	Circle one way the FED could do this.

	A.  High Inflation

B.  Recession

C.  Stagflation

D.  No Problem is indicated
	A.  Expansionary Monetary Policy (Increase the Money Supply)

B.  Contractionary Monetary Policy (Decrease the Money Supply)

C.  Leave the Money Supply Alone
	A.  Lower the discount rate (lend banks money at a lower interest rate)
B.  Raise the discount rate (lend banks money at a higher interest rate)
C.  Do Nothing (if there is no problem)


8.  CPI is at 9%.  GDP has been at 191billion, 187billion, and 181billion for the last 3 years respectively.  Unemployment is at 12%.

	Circle Which Problem is indicated.
	Circle what the FED should do.
	Circle one way the FED could do this.

	A.  High Inflation

B.  Recession

C.  Stagflation

D.  No Problem is indicated
	A.  Expansionary Monetary Policy (Increase the Money Supply)

B.  Contractionary Monetary Policy (Decrease the Money Supply)

C.  Leave the Money Supply Alone
	A.  Lower the reserve ratio (tell banks that they can loan out more money)
B.  Raise the reserve ratio (tell banks that they must loan out less money)

C.  Do Nothing


Name _______________________________________________

Hour ________________

                          

Power of Money Video

Answer the following questions as you watch the Federal Reserve Video. If absent go to http://www.youtube.com/watch?v=dPiOWltMn8M&safety_mode=true&persist_safety_mode=1 

1. What is inflation? What did the bagel experiment show about prices?

2. What was happening to the US economy in 1979?

3. How does spending change when we experience inflation?

4. How does the Fed adjust the money supply?

5. When there is more money in the economy (in banks) ( interest rates go down. So, consumers borrow more money, and they are more willing to buy goods. Businesses raise prices so inflation goes________

6.  When there is less money in the economy (in banks) ( interest rates go up. So, consumers borrow less money, and they are less willing to buy goods. Businesses lower prices so inflation goes________

7. What was happening to the US economy in 1980?

8. What was happening to the US economy in 1982?

9. What was happening to the US economy in 1984?

10. What does a FED President do? What about the board at a Reserve branch? How do they influence the FOMC?

11. According to the commentator, what are some of the goals of the Federal Reserve’s monetary policy?

Name ___________________________________________________________________ Hour ___________

Guided Reading 9 - 2:  Federal, State, and Local Revenue Systems - Page 239

1.  Revenue is the total amount of money that an entity (a thing) takes in.  What are the four largest sources of government revenue?

Individual Income Taxes (the largest source of government revenue)

2.  Individual income tax is collected with a payroll withholding system.  Explain what this means.  

FICA Taxes (the second largest source of government revenue)

3.  What do the letters F.I.C.A. in FICA Tax stand for?

4.  What two government programs do these taxes pay for (Name them here, then go to the glossary and define them here also)?

a.

b.

5.  Since these taxes are deducted from paychecks, what are they sometimes called?

Go to page 235 - Three Types of Taxes

6.  What are the three general types of taxes that exist today in the United States?

7.  These three types of taxes are different because the amount of taxes a person pays (the tax burden) in each type changes as what changes?

Proportional Tax

8.  Define Proportional Tax:
	Proportional Income Tax

	Income of $10,000
	Income of $100,000

	A.  Dollars paid in taxes:
	B.  Percent of income paid in taxes:


	C.  Dollars paid in taxes:
	D.  Percent of income paid in taxes:


9.  Assume that income tax is proportional.  Also, assume that the percentage of income that everyone paid in taxes was .975% as it is in Figure 9.2 at the top of the page.  Given this proportional tax rate, look at figure 9.2 and fill in the information about taxes paid by people with the following incomes.    




10.  Besides the tax rate on corporate dividends, what is another example of a proportional tax in the United States?  Also, what is the percentage tax on income for this program?

Progressive Tax

11.  Define Progressive Tax:
12.  Assume that income tax is progressive.  Assume that the progressive rates are 10% on all income up to $7,500.  For all income above that, the progressive tax jumps to 15%.  Assume that someone made $10,000 in a year.  What percent of his income would he have to pay in taxes on $7,500 of his $10,000 income?

13.  From the last question, what percent of his income would he have to pay in taxes on the remaining $2,500?

14.  Look back at Figure 9.2, and fill in the information about a Progressive Income Tax:  

	Progressive Income Tax

	Income of $10,000
	Income of $100,000

	A.  Dollars paid in taxes:
	B.  Percent of income paid in taxes:


	C.  Dollars paid in taxes:
	D.  Percent of income paid in taxes:


Regressive Tax

15.  Define Regressive Tax:

16.  Since people with less money spend a larger percent of their overall income, what kind of tax does the textbook use as an example of a regressive tax?

17.  Look at figure 9.2, and fill in the information about a Regressive sales tax:

	Regressive Sales Tax

	Income of $10,000
	Income of $100,000

	A.  Dollars paid in taxes:
	B.  Percent of income paid in taxes:


	C.  Dollars paid in taxes:
	D.  Percent of income paid in taxes:




Keep going (
Go back to page 239.  Borrowing (the third largest source of government revenue)
 18.  When the federal government creates its budget for the year, it deices how much money it is going to spend on what services and programs.  If it does not collect enough money in taxes, it borrows the rest.  How does it do this?

19.  Look at figure 9.3 (page 239).  Indicate the percentage of government revenue that came from borrowing in each of the following years.



a.  2001:





b.  2007:

20.  (Back to the reading) The Increased borrowing has been mainly due to what?

Corporate Income Taxes (the 4th largest source of government revenue)
21.  Define Corporate Income Taxes:  

Excise Taxes (the fifth-largest source of government revenue)

22.  Define Excise Taxes:  
Estate Taxes

23.  Define Estate Taxes:  

24.  Since wealthy people tried to avoid paying the estate tax by giving away their property before they died, what tax was passed to prevent this?

Customs Duties

25.  Define Customs Duties:

Miscellaneous Fees

26.  One example of a Miscellaneous Fee is the User Fee.  Define User Fee:

Name ___________________________________________________________________ Hour ___________

Guided Reading 10 - 2:  Federal, State, and Local Government Expenditures

1.  What is the federal budget (by the way, "expenditures" are just expenses)?

2.  Give two reasons why the federal budget is always only a rough estimate of actual revenues and expenditures. 

a.

b.

3.  When does the fiscal year that the federal government uses start and end?

4.  Which government agency or office prepares the federal budget?

5.  What three things can Congress do once the president submits his budget?

6.  Go to page 269.  What is a budget deficit?

7.  What is a budget surplus?

8.  Look at the federal budget for the fiscal year 2007 on page 269, figure 10.2.  Fill in the following information about this budget.

a.  Total Revenue:


b.  Total Expenditures:

c.  Budget Deficit:

9.  Out of all of the categories of spending (expenditures) in the federal budget, which category is the largest?

10.  What percentage of total government spending was it?

11.  Back to the reading now.  Social Security Payments go to which Americans?

12.  Programs like social security are examples of Mandatory Spending.  What is Mandatory Spending?

13.  What does total social security spending each year depend on?

14.  What is the second largest category of overall government spending?

15.  Back to figure 10.2.  What percentage of spending did this category account for in 2007?

16.  Unlike Social Security, spending for national defense is considered to be discretionary spending.  What is Discretionary Spending?

17.  Complete the sentence:  "Unlike Social Security payments, which normally go up as the population gets older, annual defense expenditures can ….








… depending on the will of the President and Congress."

18.  What is the fourth largest category of federal spending (although the textbook talks about it third after national defense)?

19.  In this category, which two kinds of people receive retirement benefits?

a.







b.

20.  Back to figure 10.2.  What percentage if spending did Income Security account for in 2007?

21.  Name the third largest category of federal spending (the one the textbook talks about 4th after Income security) and briefly explain what it is?

22.  Figure 10.2.  What percentage was spent on this category in 2007?

23.  Why is it that costs for this program have risen and are expected to continue to rise?

24.  What is the name of the next category of spending that the textbook discusses, the fifth one?

25.  Fill in the blanks:  [It Includes] "Health-Care services for ________________________, 
_____________________________, and __________________________ safety."

26.  What is Medicaid?

27.  Is spending for Medicaid mandatory or discretionary?

28.  Is there any discretionary spending in this health category?

29.  Figure 10.2.  What percentage of government spending was spent on health services like Medicaid and others in 2007?

30. What does the federal government do when it spends more than it takes in in revenue?

31.  Of course, this requires that it pays what (which is also the 6th highest category of government spending)?

32.  The total amount of interest changes as what changes?

33.  Figure 10.2.  What percentage of government spending did Net Interest account for in 2007?

34.  List a few other categories of government spending (at least 4)

35.  Are these other categories considered mandatory or discretionary spending?

Name _____________________________________________________________  Hour _________________

Methods of Fiscal Policy Power Point

(Taxing and Spending)

I.  Review: Monetary Policy

Monetary Policy = Actions by the _________________ to increase or decrease the___________________________ to fight inflation, recession, or stagflation. 

II. What is fiscal policy?

________________________ = Actions by ____________________________ to increase or decrease 

_________________________________________ to fight inflation, recession, or stagflation. 

III. What exactly is aggregate demand?

Aggregate demand just means _____________________________________________

A. _____________________________________________________________________________________. 

B.  With fiscal policy, Congress can actually increase or decrease the amount of stuff that we want to purchase.  

C.  When Congress increases aggregate demand, it ________________________________ that we want to buy.

D.  When Congress decreases aggregate demand, it _______________ the amount of stuff that we want to buy.

IV. But when should Congress increase or decrease aggregate demand?

A.  Congress should treat aggregate demand ________________________________________________________ supply to fight recession, high inflation, or stagflation.  

B.  You know that when the economy has slowed down and we are in a recession, the Fed should… increase or 

decrease the money supply? ___________________________

C.  But that’s ______________ and __________________.  This is _____________ and _________________


1.  When we are in a recession, do you think that Congress should increase aggregate demand and send 
people shopping to kill the recession, or decrease aggregate demand and keep people from shopping to 


kill the recession?  Increase or decrease aggregate demand? _______________________________



a. Increasing aggregate demand means that more people will want to buy ____________________ 


things. 



b. So businesses will ____________________________ for them to buy, so GDP will increase or 






decrease? ______________________________________



c. And since we are making more and more stuff for people to buy, _____________________ 



_____________________ to make this stuff.  So the unemployment rate will 



go…__________________.



d. So increasing aggregate demand during a recession will increase GDP and decrease the 




unemployment rate, _____________________________________  


2.  So, when we are in a recession…



a. The Fed should increase the money supply to kill the recession.



b. Congress should _______________________________________ to kill the recession.



c. The Fed increasing the money supply is called ___________________________________



d. Congress increasing demand is called _________________________________________

D.  Now let’s talk about high inflation


1.  You know that when the economy is moving too fast and we are experiencing high inflation, the Fed 


should… increase or decrease the money supply?  _________________________


2.  That’s the Fed and monetary policy.  
E.  Now for Congress and fiscal policy.


1.  When we are experiencing high inflation, do you think that Congress should increase aggregate demand 
and send people shopping to kill the high inflation, or decrease aggregate demand and keep 


people from shopping to kill the high inflation?  Increase or decrease aggregate demand? ______________



a. Decreasing aggregate demand means that ____________________________ will buy things.  



b. If fewer people are buying things, will sellers keep on raising their prices? __________________



c. So, by decreasing aggregate demand, Congress__________________________________.


2.  So, when we are experiencing high inflation:



a. The Fed should decrease the money supply to kill the high inflation



b. Congress should ________________________________________ to kill the high inflation.



c. The Fed decreasing the money supply is called_____________________________________.



d. Congress decreasing demand is called____________________________________________



e. But how does Congress increase or decrease aggregate demand?



f. How can Congress make us want to buy more or fewer things?

V.  The Methods of Fiscal Policy- Two ways that Congress can increase or decrease aggregate demand:

A.  Congress can ________________________________________________________________________

B.  Congress can _________________________________________________________________________ 

C.  Increasing government spending (National Defense, Education, Highways) ( _________________________ 

people being hired ( more people/businesses having__________________________________________________

( _________________________________ aggregate demand.  This would be ____________________________ 

fiscal policy.  This will _______________________________________

D.  Decreasing government spending 

( ____________________________people being hired for government work or people being laid off

( people having _________________________( ___________________________aggregate demand.  

This would be _____________________________fiscal policy.  This will ____________________________.

E.  Cutting taxes 


( people have _____________________________________( ___________________________ aggregate

 
demand.  This would be ______________________________.  This will ______________________.

F.  Raising taxes

(  people have __________________________________ ( ________________________________aggregate

 demand.  This would be ______________________ fiscal policy.  This will ____________________________.  
 

G.  What about stagflation, recession and high inflation together?  


1.  We should treat it just like…________________________________________________________


2.  We would use _____________________________________________________to fight stagflation.  

VI. What might Congress consider before they act?

A. ______________________________________________________

1.  The budget deficit is when the government______________________________________________ in revenue in a given fiscal year (FY)

2.  In FY 2013 the deficit was _______________________________________________

B. _______________________________________________

1.  The United States public debt is the sum of all securities issued by the United States Treasury.

2.  How does the government spend more money than it takes in?


-____________________________________________________ by selling securities like Treasury 


bills, notes, bonds and savings bonds to the public

3.  So how much is it?

Name:









   Day/Block: 

Fiscal Policy Review

Directions:  1.  Determine if there is an economic problem as follows:  

A.  Shrinking GDP or an unemployment rate above 5% = Recession.  

B.  Prices rising faster than 4% a year as measured by the Consumer Price Index (CPI) = High Inflation. 

C.  Recession and inflation together = Stagflation.  

       
      2.  Then, use your "Methods of Fiscal Policy" powerpoint norwa to help you circle the correct answer in each box

1.  CPI is growing at 3%.  The Unemployment Rate is 10%. GDP for the last 3 years has been 190 billion, 188 billion, and 185 billion.  

	Circle Which Problem is indicated.
	Circle what Congress should do.
	Circle one way that Congress could do this.

	A.  High Inflation

B.  Recession

C.  Stagflation

D.  No Problem is indicated
	A.  Increase Demand

B.  Decrease Demand

C.  Leave Demand Alone
	A.  Increase Government Spending

B.  Decrease Government Spending

C.  Do Nothing


2.  GDP has risen all year.  CPI is growing at 9%.

	Circle Which Problem is indicated.
	Circle what Congress should do.
	Circle one way that Congress could do this.

	A.  High Inflation

B.  Recession

C.  Stagflation

D.  No Problem is indicated
	A.  Increase Demand

B.  Decrease Demand

C.  Leave Demand Alone
	A.  Raise Taxes

B.  Lower Taxes

C.  Do Nothing


3.  CPI is growing at 3%.  The Unemployment Rate is 4%.  GDP over the last 3 years has been 177billion, 181billion, and 183billion respectively.

	Circle Which Problem is indicated.
	Circle what Congress should do.
	Circle one way that Congress could do this.

	A.  High Inflation

B.  Recession

C.  Stagflation

D.  No Problem is indicated
	A.  Increase Demand

B.  Decrease Demand

C.  Leave Demand Alone
	A.  Increase Government Spending

B.  Decrease Government Spending

C.  Do Nothing


4.  The Unemployment Rate is at 15%.

	Circle Which Problem is indicated.
	Circle what Congress should do.
	Circle one way that Congress could do this.

	A.  High Inflation

B.  Recession

C.  Stagflation

D.  No Problem is indicated
	A.  Increase Demand

B.  Decrease Demand

C.  Leave Demand Alone
	A.  Raise Taxes

B.  Lower Taxes

C.  Do Nothing


5.  CPI is growing at 11%.  GDP has been growing all year.

	Circle Which Problem is indicated.
	Circle what Congress should do.
	Circle one way that Congress could do this.

	A.  High Inflation

B.  Recession

C.  Stagflation

D.  No Problem is indicated
	A.  Increase Demand

B.  Decrease Demand

C.  Leave Demand Alone
	A.  Increase Government Spending

B.  Decrease Government Spending

C.  Do Nothing


6.  CPI is growing at 9%.  Unemployment is at 4%.

	Circle Which Problem is indicated.
	Circle what Congress should do.
	Circle one way that Congress could do this.

	A.  High Inflation

B.  Recession

C.  Stagflation

D.  No Problem is indicated
	A.  Increase Demand

B.  Decrease Demand

C.  Leave Demand Alone
	A.  Raise Taxes

B.  Lower Taxes

C.  Do Nothing


7.  GDP has been shrinking for 3 consecutive quarters (3 month periods). Unemployment is at 9%. CPI is at2 %.

	Circle Which Problem is indicated.
	Circle what Congress should do.
	Circle one way that Congress could do this.

	A.  High Inflation

B.  Recession

C.  Stagflation

D.  No Problem is indicated
	A.  Increase Demand

B.  Decrease Demand

C.  Leave Demand Alone
	A.  Increase Government Spending

B.  Decrease Government Spending

C.  Do Nothing


8.  CPI is growing at 9%.  GDP has been at 191billion, 187billion, and 181billion for the last 3 years respectively.  Unemployment is at 12%. 

	Circle Which Problem is indicated.
	Circle what Congress should do.
	Circle one way that Congress could do this.

	A.  High Inflation

B.  Recession

C.  Stagflation

D.  No Problem is indicated
	A.  Increase Demand

B.  Decrease Demand

C.  Leave Demand Alone
	A.  Raise Taxes

B.  Lower Taxes

C.  Do Nothing


Name ___________________________________________________________________ Hour ___________

Frontline:  Ten Trillion and Rising 
http://www.pbs.org/wgbh/pages/frontline/tentrillion/view/
	The Economic Situation Obama inherited and the government "needs" to run deficits (go into debt spending money)



	President George H.W. Bush, President George W. Bush, the lesson W. Bush learned from his father's presidency on raising or lowering taxes.  



	"Starve the Beast" and why it does not work.



	The September 11th attacks, passing George W. Bush's tax cut.



	Medicare Part D, Pay-go, 



	Obama's proposals, stimulus package, health care, 



	In Obama's budget, what will the national debt be in 10 years?



	How much money has the US Government borrowed in just the first three months of this year (2009 actually)?




.  

Name ___________________________________________________________________ Hour ___________

Guided Reading 16-2 - Arguments for Protectionism - page 450

1.  Write down word for word the “Main Idea” of this reading section.

2.  List and define the two "sides" in the debate of free trade.

a.

b.

3.  There are essentially 2 ways to limit free trade.  Go to the first paragraph on page 448 and list and define the two restrictions on free trade:

a.

b.

Six Arguments for Protectionism (along with counter-arguments) 

Argument 1:  Aiding National Defense

4.  (Back to page 450).  According to protectionists, what kind of relationship might develop between a highly specialized nation and other countries?

5.  What problem might this (from the last question) cause during wartime?

6.  What have some smaller countries done do deal with this possibility (from the last question)?

7.  Another problem with this argument is that a lot of industries claim that they are essential to national defense in order to avoid foreign competition.  List 4 industries that have done this.

Argument 2:  Promoting Infant Industries
8.  What is the Infant Industries Argument? 

9.  According to this argument, exactly why do these industries need to be temporarily protected from competition?

10.  Even though it is expected that the "protection" of these industries is going to be temporary, what often happens?

11.  In the example, what effect did the lingering tariff on the automobiles have on the price of imported cars to some Latin American countries?

12.  Have any of these protected infant industries in Latin America ever gone on to create a globally competitive automobile?

Argument 3:  Protecting Domestic Jobs
13.  Explain this 3rd argument for protectionism.

14.  List a few industries that have protested the importing of lower costing foreign made products.

15.  What is the short run effect of protectionism?

16.  What is the long run effect of an industry shielding itself from foreign competition?

17.  According to Free Traders, forcing these domestic industries to compete with foreign industries puts pressure on them to do what (after you answer, skip the last paragraph on that page and go right to page 452)?

Argument 4:  Keeping the Money at Home

18.  Explain this argument.

19.  How do Free Traders respond to this argument?

20.  For example, what do the following nations do with the dollars that they earn by exporting to the US?

a.  The Japanese with the dollars they earn selling cars in America?

b.  Middle Eastern nations with the money they earn selling oil to America?

Argument 5:  Helping the Balance of Payments

21.  What is the balance of payments?

22.  Protectionists argue that restrictions on imports will have what effect on the balance of payments?

23.  What do the protectionists overlook here?

24.  Do most economists believe that that balance of payments argument for protectionism is a good one?

Argument 6:  National Pride

25.  What industries or companies have the following nations protected out of a sense of national pride?
a.  France:

b.  The United States:

26.  If such protection turns out to be permanent, what is the government actually doing?  

27.  Next page.

27 (4 pt question)  Now that you have read the arguments about protectionism vs. free trade, in the space below, answer the following question and justify your answer (tell me why you feel as you do).  

Question:  Overall, do you think that Protectionism or Free Trade is better for the United States?  Why?

Explaining why some of the arguments above were or were not convincing is a good way to do this.  You might also talk about a personal experience you or someone you know had regarding this issue.  Perhaps you know someone who lost his job because of free trade, or maybe you know of someone who is able to buy a foreign made car or other item.  Your own original thoughts are welcomed also.  Write a good brief justification (at least a few sentences), and be prepared to briefly defend your answer in class.  There are no right or wrong answers to this, but there are thoughtful and thoughtless answers.  Write something thoughtful for credit.  

	[image: image1.jpg]



	Friedrich Hayek

Friedrich Hayek was an influential Austrian economist, and political philosopher, known for his defense of free-market capitalism in the mid-20th century.  He was decorated for bravery in World War I, and aided the Austrian government at the Treaty of Versailles.  In 1947, he was an organizer of the Mont Pelerin Society, a group of classical liberals who opposed socialism. Hayek received the Nobel Prize, along with Gunnar Myrdal, for his work on the theory of money and economic fluctuations. 


Hayek was a prolific researcher and writer over nearly seven decades, and was seen as a central figure among the opponents of interventionism and Keynesian economic policies. He was also instrumental in the founding of the Institute of Economic Affairs, the free-market think-tank that inspired President Ronald Reagan and Prime Minister Margaret Thatcher.  
Key Thinking

· Hayek supported free-market economics, and applied his thinking to issues of political organization and the business cycle.

· He opposed government involvement in the marketplace, and was a fierce critic of Keynesian economics.

· In The Road to Serfdom, he warned against the dangers of government control and socialist principles that can lead to tyranny.

· Using the Soviet Union and Nazi Germany as examples, he explained that in a government controlled economy, resources will never be divided up effectively. 

Quotation

“A claim for equality of material position can be met only by a government with totalitarian powers.” 

Name __________________________________________________________  Hour _________________

John Maynard Keynes - Textbook Page 428
Directions:  Be thoughtful, thorough, and complete in answering the following questions in order to receive credit.  
1.  List the two main contributions of John Maynard Keynes at the top of the page:

a.

b.

2.  Read "The Long Run" paragraph.  Then, in your own words, explain the economic situation described.  Explain what government leaders believed about how to, or about how not to, deal with it.    
3.  Describe Keynes' background.

4.  What is a balanced budget, and how did Keynes feel about balanced budgets and why?

5.  What did Keynes argue in his book, "The General Theory of Employment, Interest, and Money?"  Be Complete!
6.  How did Keynes respond to people who said things like, "The government doesn't need to fix the economy with fiscal policy.  In the long-run, the economy will fix itself?"

7.  Complete the sentence, "Soon, the label Keynesian economics stood for…
Name __________________________________________________________  Hour _________________

Friedrich Hayek - Handout

Directions:  Be thoughtful, thorough, and complete in answering the following questions in order to receive credit.  
1.  Make a list describing Friedrich Hayek's background:

2.  Whose ideas did Hayek oppose?

3.  What two world leaders did his Institute of Economic Affairs inspire?

4.  List the 4 aspects of Hayek's thinking (You may copy them word for word or put them in your own words)

6.  Read Hayek's quote.  In your own words, explain what you think it means: 
